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Show all your work.

Fall '07/MAT 150/ Worksheet 3

1. (8pts) Put the following expressions into standard form a + b
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Solve the equations algebraically:
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4. (6pts) How much pure water should be added to 30ml of a 30% solution of muriatic acid
to get a 12% solution?
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5. (6pts) A bathroom tub fills in 15 minutes if the faucet is open and the  stopper is in
place. With the faucet closed and the stopper removed, the tub empties in %5 minutes. How
long does it take to fill the tub if the faucet is open and the stopper is removed? (Hint: think
of faucet and stopper as people coniributing to or taking away from a job.)
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